Parts Information:
EALE Diesel & Fluid Flow Meter
Model No: TP956

Item | Part No. Description Item | Part No. Description
1 500/8839 NAME PLATE 10 BS246 O-RING 4437
2 500/8755 RESET KNOB n 500/8717 MEASURING CHAMBER
3 500/8746 COVER 12 500/8721 CALIBRATION SCREW
4 500/8763 PLUG 14 500/8722 CALIBRATION COVER SCREW
5 500/8718 SCREW M4 X 20 - 500/8698 SEAL (NOT SHOWN)
6 500/8761 COUNTER - 500/6886 SEAL (NOT SHOWN)
7 500/8826 SCREW M5x16 - B/6200-2RS BEARING 6200-2RS (NOT SHOWN)
8 500/8725 HOUSING - 500/8689 SEAL (NOT SHOWN)
9 500/8720 HOUSING - 500/8696 SPRING (NOT SHOWN)

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
IMPORTANT: No liability is accepted for incorrect use of product.
WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim.

Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR

I 01284 757500 | .ﬁ 01284 703534 | @ sales@sealey.co.uk | www.sealey.co.uk

Page 10of1 TP956 Issue 2 PL 8/03/18



